normalized x?

1072

107°%F-

. [Entries
i .| Mean
Std Dev

Entries

" Lstd Dev

Entries
Mean

Mean 1.166

2 4 6 8101214161820

[[normalized x? probability ]

3 - [Entries
Mean 0.4231
Std Dev. 03134

Il ”|I| ] Hll
I..mu II\ i| I
:”u |ll|| l”: I |II||
u| ||| } ||||!!.”u||.!:|' (e
0.4 0.5 0.6 0.7 0.8 0.9
Prob(x?)

Ratio

oooood

“fitted4_T000ev
I—fit_cpeOK _ 100
| fit_cpeOK SORTRZZ 1000evt

X2
rgrrm—mg'rm. ETTOT_TUU0EVT
_original_1000evt

[ fit_ cpeOK_SORTRZ2_TESTOUTLIER3_1000evt

< X2/ndf>

Ratio

< Xx2/ndf>

Ratio

< x2/ndf>

Ratio

10°° 1072

-1
AR(track, jél’[?



	Contents
	Page 1


